
Long Answer Type Questions 

[4 MARKS] 

 

Que 1. Find the value of: 
𝟒

(𝟐𝟏𝟔)
−𝟐
𝟑

 + 
𝟏

(𝟐𝟓𝟔)−
𝟑
𝟒

 +  
𝟐

(𝟐𝟒𝟑)−
𝟏
𝟓

. 

Sol.  
4

(216)
−2
3

 +  
1

(256)−
3
4

 +  
2

(243)−
1
5

. 

=  4(216)
2
3 + (256)

3
4  +  2(243)

1
5  =  4(63)

2
3  +  (44)

3
4  +  2(35)

1
5 

= 4 × 62 + 43 + 2 × 3 =  4 × 36 +  64 +  6 

=  144 +  64 +  6 =  214 

Que 2. Find the values of a and b:  

𝟕 + √𝟓

𝟕 − √𝟓
−

𝟕 − √𝟓

𝟕 + √𝟓
 = 𝒂 +

𝟕

𝟏𝟏
√𝟓𝒃. 

Sol. LHS  

7 + √5

7 − √5
−

7 − √5

7 + √5
 

Rationalising the denominator, we get 

7 + √5

7 − √5
×

7 + √5

7 + √5
−

7 − √5

7 + √5
×

7 − √5

7 − √5
 

=  
(7 + √5)

2

72  − (√5)
2 −

(7 − √5)
2

72  − (√5)
2 

=  
72 + (√5)

2
+ 2 × 7 × √5

49 − 5
 −  

72 + (√5)
2

 − 2 × 7√5

49 − 5
 

=  
49 + 5 + 14√5

44
−

49 + 5 − 14√5

44
 =  

54 + 14√5

44
 −  

54 − 14√5

44
 

=  
54 + 14√5 − 54 + 14√5

44
 =  

28√5

44
 =  

7√5

11
 =  0 +

7√5

11
 

Hence,  



0 +
7√5

11
 =  𝑎 +

7√5𝑏

11
 

⇒  𝑎 = 0, 𝑏 = 1 

Que 3. Simplify: 
𝟕√𝟑

 √𝟏𝟎+√𝟑
−

𝟐√𝟓

√𝟔+√𝟓
−

𝟑√𝟐

√𝟏𝟓+𝟑√𝟐
. 

Sol.  

7√3

√10 + √3
−

2√5

√6 + √5
−

3√2

√15 + 3√2
 

7√3

√10 + √3
 =

7√3

√10 + √3
×

√10 − √3

√10 − √3
 =  

7√3(√10 − √3)

(√10)
2

− (√3)
2  =  

7(√30 − 3)

10 − 3
 

∴  
7√3

√10 + √3
 =  

7(√30 − 3)

7
 =  √30 − 3 

2√5

√6 + √5
 =  

2√5

√6 + √5
×

√6 − √5

√6 − √5
 =  

2√30 − 2 × 5

(√6)
2

− (√5)
2 

∴  
2√5

√6 + √5
 =  

(2√30 − 10)

6 − 5
 =  2√30 − 10 

3√2

√15 + 3√2
 =  

3√2

√15 + 3√2
×

√15 − 3√2

√15 − 3√2
 =  

3√30 − 18

15 − 18
 =  

3√30 − 18

−3
 

∴  
3√2

√15 + 3√2
 =

3(√30 − 6)

−3
 = −(√30 − 6)  = 6 − √30 

Therefore,    

7√3

√10 + √3
−

2√5

√6 + √5
−

3√2

√15 + 3√2
 

= √30 − 3 − (2√30 − 10) − (6 − √30) 

= √30 − 3 − 2√30 + 10 − 6 + √30 

= 10 − 9 + 2√30 − 2√30 = 1 

Que 4.   If 𝒂 =
𝟐+√𝟓

𝟐−√𝟓
 𝒂𝒏𝒅 𝒃 =  

𝟐−√𝟓

𝟐+√𝟓
, then find the value of a2 – b2 . 

Sol.  



𝑎 =
2 + √5

2 − √5
 

𝑎 =
2 + √5

2 − √5
× 

2 + √5

2 + √5
, (𝑏𝑦 𝑟𝑎𝑡𝑖𝑜𝑛𝑎𝑙𝑖sin𝑔 𝑡ℎ𝑒 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟) 

=
(2 + √5)2

22 − (√5)
2  =  

4 + 5 + 4. √5

4 − 5
 =  (9 + 4√5) 

𝐴𝑙𝑠𝑜, 𝑏 =
2 − √5

2 + √5
×

2 − √5

2 − √5
 =  

(2 − √5)
2

22 − (√5)
2 

=  
22  + (√5)

2
− 2.2√5

4 − 5
 =

4 + 5 − 4√5

−1
. 

∴  𝑏 = −(9 − 4√5)  ⇒  𝑏 =  4√5 − 9 

𝑊𝑒 𝑘𝑛𝑜𝑤, 𝑎2 − 𝑏2  =  (𝑎 + 𝑏)(𝑎 − 𝑏) 

𝐻𝑒𝑟𝑒,   𝑎 + 𝑏 = −9 − 4√5 + 4√5 − 9 = −18 

𝑎 − 𝑏 = −9 − 4√5 − (4√5 − 9)  =  −8√5 

𝐻𝑒𝑛𝑐𝑒, 𝑎2 − 𝑏2  = (𝑎 + 𝑏)(𝑎 − 𝑏) =  −18(−8√5) 

⇒  𝑎2 − 𝑏2  =  144√5 

 

Que 5. If 𝒂 =
𝟏

𝟕−𝟒√𝟑
 𝒂𝒏𝒅 𝒃 =

𝟏

𝟕+𝟒√𝟑
, then find the value of: 

(i) A2 + b2                                     (ii)   a3 + b3 

Sol. 

𝑎 =
1

7 − 4√3
=

1

7 + 4√3
×  

7 + 4√3

7 + 4√3
 =  

7 + 4√3

72  − (4√3)
2 

=  
7 + 4√3

49 − 16 × 3
 =  

7 + 4√3

49 − 48
 

∴  𝑎 =  
1

7 − 4√3
 =  7 + 4√3 

𝑏 =
1

7 + 4√3
 =  

1

7 + 4√3
×

7 − 4√3

7 − 4√3
 =  

7 − 4√3

72  − (4√3)
2 



=
7 − 4√3

49 − 16 × 3
 =  

7 − 4√3

49 − 48
 

∴  𝑏 =
1

7 + 4√3
 = 7 − 4√3 

∴   𝑎 + 𝑏 =  7 + 4√3 + 7 − 4√3  =  14 𝑎𝑛𝑑 𝑎𝑏 = (7 + 4√3)(7 − 4√3) 

= 72  − (4√3)
2

 = 49 − 16 × 3 =  49 − 48 

⇒  𝑎𝑏 =  1 

𝑁𝑜𝑤, 𝑎2  +  𝑏2  =  (𝑎 + 𝑏)2  − 2𝑎𝑏 =  (14)2  − 2 × 1 = 196 − 2 

∴  𝑎2  + 𝑏2  =  194 

𝐴𝑙𝑠𝑜, 𝑎3  +  𝑏3  =  (𝑎 + 𝑏)3  − 3𝑎𝑏(𝑎 + 𝑏)  =  (14)3  − 3 × 1 (14) 

𝑎3  +  𝑏3  =  2744 −  42 =  2702 

 

 


